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I Final clause of 22 mwn:
a  If: she is someone with whom no one can have Pw11p (e.g. non-Jewess or nyid MNaw) — child follows her identity
b  Source:
i v anow: P take no effect as per v. 1 —7mn% nmn oy; child follows her identity as per v. 2
ii ~ Non-Jewess: "1'p take no effect as per v. 3; child follows her identity as per v. 4:
1 Implication: your (grand)son from a non-Jewish man is called “712”, but not the inverse
(a) Unclear: whether that pegs him as a 91n; could be just 5108
2 Note: this verse refers only to the 7 nations — what is the source for all non-Jews?
(a) Answer: v 2 extends prohibition (and status) to all who would sway us away from 'n
(i) Note: this only works according to ™ (%797 ®nYY W*171); how do 1337 answer?
1. answer: v. 5 teaches that non-Jews (of other than 7 nations) may only have "1p after 71
a. question: how do we know that the child follows her identity?
b. Answer: v. 6 — only when n»»nn (pw1mp are valid) do we consider 19 y197
2. challenge: if so, v. 2 is unnecessary
3. answer: needed for 3" — if master frees Nnaw but keeps her (unborn) child
a. ruling: invalid, and (unborn) child goes with her
I » mwn: v"7’s solution for DN
a  7mn marries a Nnaw and the child is an T2y (following her status as above) — master frees him — and he’s a Y®7w 12
i Question: was v"™ suggesting a N>’nnaY solution (N may marry 2"v) or Tay’7a?
1 Suggested proof: response to v — you haven’t solved problem for mamn (assumption — Tay11)
(@) Defense: nmn wouldn’t be solved in any case, since the 72y has no “paternity”
2 Suggested proof: "R9nW “V's host was a 7tn — w™ said that he could have ‘saved’ his son had he known earlier
(a) Attempted defense: could have meant that he would have advised him to steal, be sold as »2y T2y etc.
(b) Rejection: may 12y was long out of practice in his day - v must have meant n%’nna% (and v™3 n3%n)
b dissent (R™): status is 1N 7Y
i Source:v.7 —19 —7mnn’s status is maintained
1 a7 that's referring to Y879’ who married namn, to counter v. 8; here, the blemish remains
(a) ~77in the same way as nIrnn RV HRIW, v. 7 “trumps” v. 2
(b) counter: any embryo in the womb of a nnaw is akin to nnna »yna 121y
(i) explanation: has no connection to father
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